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  (1)         
  (2)          
 

1. (A) (1)      ?     7 

  (2)              
  7  

x 58 59 60 61 62 63 64 65 66 

y 98 109 110 112 105 120 135 130 135 

                         
  (1)            

x 35 40 42 43 40 53 54 49 41 55 

y 102 101 97 98 38 101 97 92 95 95 

  (2)         
 (B)      ( ) 4 

  (1)  A  B     (AB) = 80, () = 50, (B) = 160 ,  
(A)    

  (2) 2  2      
  (3)    10      - 24  x  y   

 36  25 ,  x  y        
 
2. (A) (1)           7 

  (2)      -       7 

x 10 20 30 40 50 

y 25 30 20 10 15 

  
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  (1)      -      : 

  x  y 

 65 67 

..  2.5 3.5 

 0.8  

  (2)  -    y = 0.1x + 1.7  x = 5y – 7   x , y   r 
   

 (B)      ( ) 4 

  (1)  byx = 0.75, bxy = 0.85 ,  r    

  (2)  
n

)y–)(y–( xx
 = 50, n = 10, (x – x )2 = 780,  (y – y )2 = 560 ,  

bxy  byx    
  (3)       
 

3. (A) (1)       ?      7 

  (2)            2010   
    7 

 2000 2002 2004 2006 2008 

 12 4 6 11 8 

 
  (1)   80   = 0.8         

       

 2006 2007 2008 2009 2010 

 96 100 105 119 125 

  (2)         

 2011 2012 2013 2014 2015 

 20 35 48 40 25 

 (B)      ( ) 3 

  (1)  y           x   ,   2011  
       

   y = 24.15 + 5.15 [2(x – 2007.5)] + 0.24[2(x – 2007.5)]2 



ME-148(H) 3 P.T.O. 

  (2)   = 0.2, S1 = 200, T1 = 4 ,  x̂1    

  (3)        
  (4)          
  (5)     -        

________    
 

4. (A) (1)           7 

  (2)           (GFR),    (SFR), 

   (TFR)     (CBR)     
   [       ]  7 

 ( ) 
   

( ) 

   
  

15 – 19 32 800 

20 – 24 30 3420 

25 – 29 28 4200 

30 – 34 26 2860 

35 – 39 24 1920 

40 – 44 22 660 

45 – 49 18 72 

 
  (1)                  

     

 ( ) 

 A  B  
 
( ) 

 
( ) 

  
 

 
( ) 

  
 

5   16 45 8 35 5 

5 – 20 40 20 30 18 35 

20 – 45 25 18 20 13 25 

45 – 60 15 12 10 15 18 

60   14 49 10 60 17 

  (2)                
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 (B)      ( ) 3 

  (1) -       

  (2)          ________       
   (a) TFR (b) SDR (c) IMR (d) CDR 

  (3)     CDR =  20.5 ,    SDR    
  (4) GFR ________ CBR 

   (a) < (b) > (c) = (d)   

  (5)    (TFR) = 84      7 ,     (GFR) 
    

__________ 
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  (1)         
  (2)          
 

1. (A) (1)      ?     7 

  (2)              
  7  

x 58 59 60 61 62 63 64 65 66 

y 98 109 110 112 105 120 135 130 135 

                         
  (1)            

x 35 40 42 43 40 53 54 49 41 55 

y 102 101 97 98 38 101 97 92 95 95 

  (2)         
 (B)      ( ) 4 

  (1)  A  B     (AB) = 80, () = 50, (B) = 160 ,  
(A)    

  (2) 2  2      
  (3)    10      - 24  x  y   

 36  25 ,  x  y       
 

2. (A) (1)     7 

   (i)   

   (ii)   

   (iii)   

  (2)             7 
   2x + 4y + z = 62, 5x + 3y + 4z = 106, 3x + 6y + 10z = 212 
                           
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  (1)      
   (i)     
   (ii) -   
   (iii)    
      

  (2)  A = 

















54b

c72

3a10

   ,  a, b  c        

A + 2B = I ,    B      I      
 (B)       4 

  (1)  A = 







62

k3
 ,  k      A–1   ? 

  (2)   A   2  3   B   3  3 ,   BAT   
  ? 

  (3)  A = [1 –2]  B = 







5

4
 ,  AB       

 
3. (A) (1)       ?      7 

  (2)            2010   
    7 

 2000 2002 2004 2006 2008 

 12 4 6 11 8 

 
  (1)   80   = 0.8         

       
 2006 2007 2008 2009 2010 

 96 100 105 119 125 

  (2)         

 2011 2012 2013 2014 2015 

 20 35 48 40 25 

 (B)      ( ) 3 

  (1)  y           x   ,   2011  
       

   y = 24.15 + 5.15 [2(x – 2007.5)] + 0.24[2(x – 2007.5)]2 
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  (2)   = 0.2, S1 = 200, T1 = 4 ,  x̂1    

  (3)        
  (4)          
  (5)     -        

________    
 

4. (A) (1)           7 

  (2)           (GFR),    (SFR), 

   (TFR)     (CBR)    
   [       ]  7 

 ( ) 
   

( ) 

   
  

15 – 19 32 800 

20 – 24 30 3420 

25 – 29 28 4200 

30 – 34 26 2860 

35 – 39 24 1920 

40 – 44 22 660 

45 – 49 18 72 

 
  (1)                  

     

 ( ) 

 A  B  
 
( ) 

 
( ) 

  
 

 
( ) 

  
 

5   16 45 8 35 5 

5 – 20 40 20 30 18 35 

20 – 45 25 18 20 13 25 

45 – 60 15 12 10 15 18 

60   14 49 10 60 17 

  (2)                
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 (B)      ( ) 3 

  (1) -       

  (2)          ________       
   (a) TFR (b) SDR (c) IMR (d) CDR 

  (3)     CDR = 20.5 ,    SDR    
  (4) GFR ________ CBR 

   (a) < (b) > (c) = (d)   

  (5)    (TFR) = 84      7 ,     (GFR) 
   

__________ 


